
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply by powers of ten (missing number)

10.51 × ________ = 1051 5.247 × ________ = 5247

1.815 × ________ = 1815 2.007 × ________ = 2007

5.665 × ________ = 5665 8.613 × ________ = 861.3

10.402 × ________ = 1040.2 10.173 × ________ = 101.73

7.74 × ________ = 7740 5.126 × ________ = 512.6

3.582 × ________ = 358.2 4.586 × ________ = 45.86

2.659 × ________ = 265.9 8.351 × ________ = 83.51

8.974 × ________ = 89.74 5.508 × ________ = 55.08

4.547 × ________ = 45.47 3.3 × ________ = 3300

9.834 × ________ = 9834 4.195 × ________ = 41.95

www.snowmath.com

https://www.snowmath.com

